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The Search for Truth within Star Trek: Tomorrow is Yesterday
Star Trek’s Tomorrow is Yesterday is the main villain for the misunderstandings of today’s youths regarding the logics behind time travel.  As avid physicists, we need to be aware of the wrong knowledge that Trekkies are trying to engrave on the minds of innocent viewers of the evil mastermind of the propagation of wicked physics. The works of Trekkies are contaminating what seems like healthy interest for advanced physics. It is natural that humans want to know more. It is merely part of God’s plan to keep us updated with what is happening in modern physics. Actually, take that back. It was all logic that the world was based on. Not some mysterious power that mysteriously controls the many mysteries of life and physics. Therefore, to put things straight and right, the selected of the selected united at the Theta Computer Cluster to save the world once and for all from evil Trekkies.

First of all, c = A-B-S-O-L-U-T-E. This fact has not been stressed enough in today’s world. Instead of teachings children that ‘sharing is caring’ in kindergarten, kids should be learning that the speed of light is the absolute maximum speed and that it is impossible to go faster than 3x10^8 m/second. From math and even further math, we see that time freezes at the speed of light. Therefore, the starship Enterprise should have never gone back in time in the first place, because time stops when any objects travel at the speed of light. Furthermore, it is impossible to travel any faster than the speed of light, because Gary said so, and we trust him. He’s a cool guy.

Furthermore, it is impossible to go into a ‘black star’ and return. Since it apparently works and acts like a black hole, it is physically not possible to escape from it. However much the Trekkies try to convince us that these ridiculous things are possible, we know better. We do not know what this fallacy would do to help dominate the world. However, we need to be aware of the real physics. Real physics states that since gravitational pull is seriously strong in a black hole and that it is not possible to pull away from it, once you are in it. YOU ARE TRAPPED.

It is impossible to speed through 300 years worth of time in 10 seconds. The fastest way to travel 300 years of time would be to go through 300 years of time. It is a logical inconsistency to even think that you might be able to go through that much time in 10 seconds is simply stupid. Tarun can give a great explanation on why it is impossible. However, since this requires much mathematical knowledge which the writers of this essay do not have, readers will have to consult Tarun personally to hear about the awesomely logical explanation.

The movie itself is a violation of physical law. Assuming that the spaceship can travel at the speed of light, the time would only stop. Even if the spaceship can travel faster than the speed of light, it would be impossible to reverse time. With this in mind, the starship Enterprise would never have gone back into the 1960s in the first place; none of this would have happened. 

In the previous paragraph it is assumed that the spaceship can travel at the speed of light, but in truth, anything with mass cannot travel at the speed of light, let alone travel faster than the speed of light.  According to the equation E=[image: image9.png]Breaking speed: when the starship P, |
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.  If the velocity of the object is at or faster than the speed of light, then the fraction would become 1 or a number greater than 1, therefore[image: image4.png]


would be an imaginary number and it would require an infinite amount of energy for the object to move at a velocity equal or greater to the speed of light. This is why it is impossible to travel faster or equivalent to the speed of light. 

A major error appeared when the writers of the movie assumed an object escaping a black star (also known as the black hole) is analogous to a satellite escaping the gravitational pull of the earth.  When an object is launched into space, it requires an ‘escape speed’ for it to escape the gravitational pull of the earth. However, just like the amount of energy required for an object to move at a speed equivalent or faster than the speed of light, it would take an infinite velocity for an object to escape the gravitational pull of a black hole. Therefore it is impossible for the starship Enterprise to obtain an ‘escape velocity’ to break away from the gravitational pull of the black hole. 

The following diagrams explain what occurs in the slingshot effect (this is related to the violation mentioned later on):
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When Spock was explaining the consequences of the slingshot effect, he explained that since the slingshot effect would cause the starship Enterprise to accelerate with a great velocity away from the sun, it would take a great velocity act against the Enterprise to stop it from going. However, Spock said that even if the engines were turned off, the spaceship would simply pull apart. He was mistaken, when the break speed is imposed on the Enterprise, the front of the ship would stop, but the rear of the ship would continue to travel at a very high velocity; the Enterprise would be crunched up, instead of being pulled apart. 

Aside from all the violations, the act of beaming people is a logical consistency. According to the movie, people are seemingly broken into basic molecules (i.e. atoms), and the light beams would carry them from place to place (ex. Spaceship to earth). However, it is impossible for a photon, which is traveling at the speed of light, to carry molecules while maintaining its speed. Secondly, it is just impossible to take people apart and construct them back together, let alone doing so within a few seconds. 

The starship Enterprise should not have been able to go back to their own time because of time stops when any object travels at the speed of light. Light just stops.  You cannot speed through something that has already happened by hitting the rewind button on the starship Enterprise. Even though time seems to slow down as you reach a significant portion of the speed of light, it is not possible even in theory to speed up anything. These Star Trek lovers obviously didn’t study physics enough to know of the physical limitations.

As part of the wrong idea that the Trekkies are trying to brainwash people with, they hide illogical things as completely normal and scientific. Kids that watch this believe that these logical inconsistencies are true and that their original logical thinking is in fact wrong. What seems harmless is actually pressing these could-be-awesome-scientists down to a state that they don’t think logically anymore. For example, taking the tape would be futile, because they go back in time anyway to ‘re-write’ history. If it’s going to be fixed, you don’t have to steal anything, if you think ‘logically’.

To conclude, Trekkies are trying to take over the world. The end.
Fine, let us try that again. 

To conclude, Star Trek poses many illogical things as being logical and completely correct. Things that are downright impossible are portrayed here as something that would happen in the near future. To prevent kids from going into physics in hopes of creating a time machine to save their favorite Grandparent from dieing or something, it is necessary to educate them of the truth and the reality. Therefore, do not take everything in Star Trek: Tomorrow is Yesterday as absolute. Instead, we should encourage them to take EPGY’s relativity course. 
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